11385 R SE — BRI A5 28

YR /B Digk |BESR |25k FHLE  |FE
114F2H19H (=) 12:359 EREH=E 1 2 1130002  [gESC B
1425 19H (=) 12:359r BEiEEE 1 2 1130002 [t+&
14F2H19H (=) 12:35% EHsZ= 1 9 1130010 [EES7 B
14F2H19H (=) 12:35% ElSZ= 1 9 1130010 [EES7 B3
14F2H19H (=) 12:35% EhsZ= 1 9 1130010 |HZA
14F2H19H (=) 12:35% ElSZ= 1 9 1130010  |¥t&r
14F2H19H (=) 12:35% EhSZ= 1 15 1130016 [EES2 B
14F2H19H (=) 12:35% EhSZ= 1 15 1130016 [ES7 B3
14F2H19H (=) 12:35% EHSZ=E 1 15 1130016  |%iE2
14F2H19H (=) 12:35% EhSZ=E 1 15 1130016 |HZA
14F2H19H (=) 12:35% EHSZ= 1 15 1130016 |%t&r
14F2H19H (=) 12:35% EhSZ=E 1 24 1130025  [EBS7 B3
14F2H19H (=) 12:35% EhSZ=E 1 24 1130025 |HZA
14F2H19H (=) 12:35% EhSZ=E 1 29 1130030 [EES7 B
14F2H19H (=) 12:35% EhSZ= 1 29 1130030 [EES7 #i57
14F2H19H (=) 12:35% EhSZ=E 1 29 1130030  |HiE2
14F2H19H (=) 12:35% EhSZ=E 1 29 1130030 |HZA
14F2H19H (=) 12:35% EhSZ=E 1 29 1130030  |¥tdy
14F2H19H (=) 12:35% EhSZ=E 2 3 1130034 [ES7 B
14F2H19H (=) 12:35% EhSZ= 2 3 1130034 [EES7 B3
14F2H19H (=) 12:35% EhSZ=E 2 3 1130034 |EHZA
14F2H19H (=) 12:35% EhSZ=E 2 5 1130036 [EES7 B3
14F2H19H (=) 12:35% EhSZ=E 2 5 1130036 |EHZA
14F2H19H (=) 12:35% EhSZ=E 2 11 1130042 [EES7 #57
14F2H19H (=) 12:35% EhSZ=E 2 11 1130042 |EHZA
14F2H19H (=) 12:35% EhSZ=E 2 12 1130043 [EES7 B3
14F2H19H (=) 12:35% EhSZ=E 2 12 1130043  |EHZA
14F2H19H (=) 12:35% EHSZ=E 2 14 1130046 |5BSC BSC
114F2H19H (=) 12:35% EHSZ=E 2 14 1130046 |5BSC HiL
14F2H19H (=) 12:35% EHSZ=E 2 14 1130046 |$E2
14F2H19H (=) 12:35% EHSZ=E 2 14 1130046 |EZR
114F2H19H (=) 12:35% EHSZ=E 2 16 1130049 |5BSC B
14F2H19H (=) 12:35% EHSZ=E 2 16 1130049 |5BSC HiL
14F2H19H (=) 12:35% EHSZ=E 2 16 1130049 |EZR
14F2H19H (=) 12:35% EHSZ=E 2 23 1130056 |5BSC HiL
14F2H19H (=) 12:35% EHSZ=E 2 23 1130056 |EZR
14F2H19H (=) 12:35% EHSZ=E 2 24 1130057 |5BSC Hi
14F2H19H (=) 12:35% BISZ=E 2 24 1130057 |EZR
14F2H19H (=) 12:35% BESZ=E 2 25 1130058 |5BSC Hi
14F2H19H (=) 12:35% BISZ=E 2 25 1130058 |#iE2
14F2H19H (=) 12:35% EBSZ = 2 25 1130058 |HZK
14F2H19H (=) 12:35% BESZ=E 2 26 1130059 |5BSC Hi
14F2H19H (=) 12:35% BISZ=E 2 26 1130059 |EZK




11385 R SE — BRI A5 28

FEE IR / HhBh Digk |BESR |25k FIB AL o
14F2H19H (=) 12:35% ElSZ= 3 3 1130064 [EES7 B
14F2H19H (=) 12:35% EhsZ= 3 3 1130064  |EZA
14F2H19H (=) 12:35% EHsZ= 3 7 1130068 [EES7 B
14F2H19H (=) 12:35% ElSZ= 3 7 1130068 |HiE2
14F2H19H (=) 12:35% EhsZ= 3 7 1130068 |EZA
14F2H19H (=) 12:35% ElSZ= 3 8 1130069  [EES7 B
14F2H19H (=) 12:35% EhSZ= 3 8 1130069  [EES7 B3
14F2H19H (=) 12:35% EhSZ= 3 8 1130069  |iE2
14F2H19H (=) 12:35% EHSZ=E 3 8 1130069 |EZA
14F2H19H (=) 12:35% EhSZ=E 3 8 11300609 |¥t&r
14F2H19H (=) 12:35% EHSZ= 3 9 1130070 [EES2 B
14F2H19H (=) 12:35% EhSZ=E 3 9 1130070 [EES7 B3
14F2H19H (=) 12:35% EhSZ=E 3 9 1130070  |iE2
14F2H19H (=) 12:35% EhSZ=E 3 9 1130070 |EHZA
14F2H19H (=) 12:35% EhSZ= 3 9 1130070 |%t&r
14F2H19H (=) 12:35% EhSZ=E 4 5 1130098 [EES7 B
14F2H19H (=) 12:35% EhSZ=E 4 5 1130098 |HiE2
14F2H19H (=) 12:35% EhSZ=E 4 5 1130098 |HZA
14F2H19H (=) 12:35% EhSZ=E 4 5 1130098  |¥tdy
14F2H19H (=) 12:35% EhSZ= 4 9 1130102 [EES7 B
14F2H19H (=) 12:35% EhSZ=E 4 9 1130102 |HZA
14F2H19H (=) 12:35% EhSZ=E 4 12 1130105  [EES7 B
14F2H19H (=) 12:35% EhSZ=E 4 12 1130105 [EBES7 #37
14F2H19H (=) 12:35% EhSZ=E 4 12 1130105 |%iE2
14F2H19H (=) 12:35% EhSZ=E 4 12 1130105 |HZA
14F2H19H (=) 12:35% EhSZ=E 4 12 1130105 |#tdy
14F2H19H (=) 12:35% EhSZ=E 4 13 1130106 [EES B
14F2H19H (=) 12:35% EHSZ=E 4 13 1130106 |EZR
114F2H19H (=) 12:35% EHSZ=E 4 13 1130106 |t+&r
14F2H19H (=) 12:35% EHSZ=E 4 14 1130107 |5B=C B
14F2H19H (=) 12:35% EHSZ=E 4 14 1130107 |5BSC HiZ
114F2H19H (=) 12:35% EHSZ=E 4 14 1130107 |#=2
14F2H19H (=) 12:35% EHSZ=E 4 14 1130107 |EZR
14F2H19H (=) 12:35% EHSZ=E 4 14 1130107 |¥t&r
14F2H19H (=) 12:35% EHSZ=E 4 15 1130108 |5BSC Hi
14F2H19H (=) 12:35% EHSZ=E 4 15 1130108 |82
14F2H19H (=) 12:35% EHSZ=E 4 15 1130108 [t+&r
14F2H19H (=) 12:35% BISZ=E 4 25 1130118 |5B=C B
14F2H19H (=) 12:35% BESZ=E 4 25 1130118 |5BSC HiL
14AF2H19H (=) 12:35% BESZE 4 25 1130118 |82
14AF2H19H (=) 12:35% BESZE 4 25 1130118  |[tt&r
14F2H19H (=) 12:35% BESZ=E 5 7 1130129 |5B=C B
14F2H19H (=) 12:35% BISZ=E 5 7 1130129 |5BSC HiL
14F2H19H (=) 12:35% BESZ=E 5 7 1130129 |EZR
14AF2H19H (=) 12:35% BESZE 5 7 1130129 |tt&r




11385 R SE — BRI A5 28

FEE IR / HhBh Didhk |BESR  |ZBSR FEIRAATH
14F2H19H (=) 12:35% ElSZ= 5 8 1130130 [EES7 B
14F2H19H (=) 12:35% EhsZ= 5 8 1130130 [EESr #37
14F2H19H (=) 12:35% EHsZ= 5 8 1130130  |HiE2
14F2H19H (=) 12:35% ElSZ= 5 8 1130130 |HZA
14F2H19H (=) 12:35% EhsZ= 5 8 1130130 |¥t&r
14F2H19H (=) 12:35% ElSZ= 5 12 1130134 [EES2 B2
14F2H19H (=) 12:35% EhSZ= 5 12 1130134 [EESr 57
14F2H19H (=) 12:35% EhSZ= 6 4 1130158 |HiE2
14F2H19H (=) 12:35% EHSZ=E 6 4 1130158 |EZA
14F2H19H (=) 12:35% EhSZ=E 6 4 1130158 |4t
14F2H19H (=) 12:35% EHSZ= 6 9 1130163 B3 B
14F2H19H (=) 12:35% EhSZ=E 6 1130163  |HZA
14F2H19H (=) 12:35% EhSZ=E 6 1130165 [EE32 B
14F2H19H (=) 12:35% EhSZ=E 6 1130165 |3t
14F2H19H (=) 12:35% EhSZ= 6 1130166 [EES2 B
14F2H19H (=) 12:35% EhSZ=E 6 1130166 [ES7 B3
14F2H19H (=) 12:35% EhSZ=E 6 1130166  |EHZA
14F2H19H (=) 12:35% EhSZ=E 6 1130175 |EES7 #37
14F2H19H (=) 12:35% EhSZ=E 6 1130175 |EZ
14F2H19H (=) 12:35% EhSZ= 6 1130177 |EBS #37
14F2H19H (=) 12:35% EhSZ=E 6 1130177 |EZ
14F2H19H (=) 12:35% EhSZ=E 6 1130177 |3tdy
14F2H19H (=) 12:35% EhSZ=E 6 1130181 [EES7 B
14F2H19H (=) 12:35% EhSZ=E 6 1130181 |HZ
14F2H19H (=) 12:35% EhSZ=E 6 1130181 |¥tdy
14F2H19H (=) 12:35% EhSZ=E 7 1130188  [EES7 B
14F2H19H (=) 12:35% EhSZ=E 7 1130188  [EBES7 Hi3Z
14F2H19H (=) 12:35% EHSZ=E 7 1130188 |82
114F2H19H (=) 12:35% EHSZ=E 7 1130188 |EZR
14F2H19H (=) 12:35% EHSZ=E 7 1130188  |t+&r
14F2H19H (=) 12:35% EHSZ=E 7 1130197 |5BSC B
114F2H19H (=) 12:35% EHSZ=E 7 1130197 |5BSC HiZ
14F2H19H (=) 12:35% EHSZ=E 7 1130197  |#=
14F2H19H (=) 12:35% EHSZ=E 7 1130197 |BZR
14F2H19H (=) 12:35% EHSZ=E 7 1130197 |¥t&r
14F2H19H (=) 12:35% EHSZ=E 7 1130212 |5BSC B
14F2H19H (=) 12:35% EHSZ=E 7 1130212 |5BSC HiZ
14AF2H19H (=) 12:35% BESZE 7 1130212 |#5E2
14F2H19H (=) 12:35% BESZ=E 7 1130212 |EZR
14AF2H19H (=) 12:35% BESZE 7 1130212  |t-&r




11385 R SE — BRI A5 28

FEE IR / HhBh Didhk |BESR  |ZBSR FEIRAATH
14F2H19H (=) 12:35% ZiEpEs= 8 6 1130218 [gESC B
14F2H19H (=) 12:35% ZiEpEs= 8 6 1130218 |#&22
14F2H19H (=) 12:35% ZiEpEs= 8 6 1130218  |EZA
14F2H19H (=) 12:35% ZiEpEs= 8 6 1130218 [tt&
14F2H19H (=) 12:35% ZiEpEs= 8 8 1130220  [gESC B
14F2H19H (=) 12:35% ZiEpEs= 8 8 1130220  [gESC #iC
14F2H19H (=) 12:35% ZiEpas= 8 8 1130220 |82
14F2H19H (=) 12:35% ZiEpas= 8 8 1130220 |EZA
HAE2H19H(Z) 12:359 Zilpas= 8 8 1130220 |3t&
14F2H19H (=) 12:35% ZiEpEs= 8 12 1130224 [gESC HiC
14F2H19H (=) 12:35% ZiEpEs= 8 12 1130224 |82
14F2H19H (=) 12:35% ZiEpas= 8 16 1130228  [gESC [
14F2H19H (=) 12:35% ZiEpEs= 8 16 1130228 [gESC HiC
14F2H19H (=) 12:35% ZiEpEs= 8 16 1130228 |82
14F2H19H (=) 12:35% ZiEpEs= 8 16 1130228 |EZA
HAE2H19H(Z) 12:359 Zilpas= 8 16 1130228 |3t&7
14F2H19H (=) 12:35% ZiEpas= 8 21 1130233 B3 [
14F2H19H (=) 12:35% ZiEpaEs= 8 21 1130233 [gBESC HiZ
14F2H19H (=) 12:35% ZiEpaEs= 8 21 1130233 |82
14F2H19H (=) 12:35% ZiEpEs= 8 21 1130233 |BZA
HAE2HI9H(Z) 12:355 Zipss= 8 21 1130233 |3t57
14F2H19H (=) 12:35% ZiEpaEs= 9 13 1130255 [gBESC E=C
14F2H19H (=) 12:35%r ZiEpaEs= 9 13 1130255 [gBESC HiZ
14F2H19H (=) 12:35% ZiEpas= 9 13 1130255 |82
14F2H19H (=) 12:35%r ZipaEs= 9 13 1130255 |B%A
HAE2HI9H(Z) 12:355 Zipss= 9 13 1130255 |3t&
14F2H19H (=) 12:35% ZiEpEs= 9 14 1130256 [gBESC S
1H4AF2H19H (=) 12:35% Ziisas = 9 14 1130256 |5BSC Hi
14F2H19H (=) 12:35% Ziises = 9 14 1130256 |82
14AF2H19H (=) 12:35% Ziisas = 9 14 1130256  |BZK
14AF2H19H (=) 12:35% S = 9 14 1130256  |[th&r
14F2H19H (=) 12:35% Ziisas = 9 1130264 [8ESC HX
14AF2H19H (=) 12:35% Ziises = 9 1130264 |$E2
14AF2H19H (=) 12:35% Ziisas = 10 1130275 |5B=C B
1H4AF2H19H (=) 12:35% Ziisas = 10 1130275 |82
14AF2H19H (=) 12:35% Ziises = 10 1130275 |BZK
14AF2H19H (=) 12:35% Ziisas = 10 1130281  [§BESC HX
1AF2H19H (=) 12:35% S = 10 1130281 |82
1H4FE2H19H (=) 12:35% Ziises = 10 1130282 [5ESC BEC
1AF2H19H (=) 12:35% S = 10 1130282 |82
1H4FE2H19H (=) 12:35% Siises = 10 1130296 |5BSC Hir
1AF2H19H (=) 12:35% S = 10 1130296 |82
14AF2H19H (=) 12:35% S = 10 1130299  |#522
1H4FE2H19H (=) 12:35% Ziises = 10 1130299 |BZK




11385 R SE — BRI A5 28

FEE IR / HhBh Digk |BESR |25k FIB AL o
14F2H19H (=) 12:35% ZiEpEs= 11 1 1130303 [gESC #iC
14F2H19H (=) 12:35% ZiEpEs= 11 1 1130303  |HZA
1AFE2H19H (=) 12:35% S = 11 2 1130304  |3ES7 B
14F2H19H (=) 12:35% ZiEpEs= 11 2 1130304  |#2
14F2H19H (=) 12:35% ZiEpEs= 11 2 1130304 |EZA
1AFE2H19H (=) 12:35% S = 11 |16 1130318 |3BE37 E
14F2H19H (=) 12:35% ZiEpas= 11 |16 1130318 [gESC #C
14F2H19H (=) 12:35% ZiEpas= 11 |16 1130318 |#&2
14F2H19H (=) 12:35% ZiEpEs= 11 |16 1130318 |HZA
HAE2HI9H(Z) 12:355 Zipas= 11 |16 1130318 |3t&
14F2H19H (=) 12:35% ZiEpEs= 11 |17 1130319 |82
14F2H19H (=) 12:35% ZiEpas= 11 |17 1130319 |EZ%A
HAE2H19H(Z) 12:355 Zipas= 11 |17 1130319 |3t&
14F2H19H (=) 12:35% ZiEpEs= 11 28 1130330 [gESC [
14F2H19H (=) 12:35% ZiEpEs= 11 28 1130330 |EZ%A
14F2H19H (=) 12:35% ZiEpaEs= 12 |5 1130335 [gBESC [ESC
14F2H19H (=) 12:35% ZiEpas= 12 |5 1130335 [gBESC #iX
14F2H19H (=) 12:35% ZiEpaEs= 12 |5 1130335 |#&2
HAE2HI9H(Z) 12:355 Zipss= 12 |5 1130335 |3t&
14F2H19H (=) 12:35% S = 12 |7 1130337  [3BE3 B¢
14F2H19H (=) 12:35% ZiEpaEs= 12 |7 1130337 [gBESC HiX
14F2H19H (=) 12:35% ZiEpaEs= 12 |7 1130337 |BZA
HAE2HI9H(Z) 12:355 Zipss= 12 |7 1130337 |3ts
14F2H19H (=) 12:35% ZiEpas= 12 |12 1130342 [gBESC
14F2H19H (=) 12:35%r ZipaEs= 12 |12 1130342 |BZA
14F2H19H (=) 12:35% S = 12 |16 1130347  |3E37 B
14F2H19H (=) 12:35% ZiEpEs= 12 |16 1130347 |82
1H4AF2H19H (=) 12:35% Ziisas = 12 |16 1130347 |EZR
14AF2H19H (=) 12:35% S = 12 |16 1130347 |t-&r
14AF2H19H (=) 12:35% Ziisas = 13 |3 1130362 |82
14AF2H19H (=) 12:35% Ziises = 13 |3 1130362 |BZK
14F2H19H (=) 12:35% Ziisas = 13 |24 1130384  [5BSC BEC
14AF2H19H (=) 12:35% Ziises = 13 |24 1130384 |82
14AF2H19H (=) 12:35% Ziisas = 13 |24 1130384 |t+&r
LAFE2HI9H (=) 12:35%) SHiigas= 14 1130391 [gB B
LAE2HI9H (=) 12:35% Siipasi= 14 |1 1130391 [gESC #iC
LAE2HI9H (=) 12:35% Siipasi= 14 |5 1130395 [gESC B
14F2H19H (=) 12:35% Ziisas = 14 |5 1130395 |FBSC X
14F2H19H (=) 12:35% Zisas= 14 |5 1130395 |BZ%A
14F2H19H (=) 12:35% Ziisas = 14 9 1130399 5B B
14F2H19H (=) 12:35% Ziisas = 14 9 1130399 5B HiZ
14F2H19H (=) 12:35% Ziisas = 14 9 1130399 |BZ%A
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FEE IR / HhBh Digk |BESR |25k FIB AL o
1AE2H19H (=) 12:35% Zipas = 14 |11 1130401  |3BES7 B
14F2H19H (=) 12:35% ZiEpEs= 14 |11 1130401 [gESC #iC
14F2H19H (=) 12:35% ZiEpEs= 14 |11 1130401 |EZA
14F2H19H (=) 12:35% ZiEpEs= 14 |11 1130401  [th&
14F2H19H (=) 12:35% ZiEpEs= 14 |19 1130409  [gESC B
14F2H19H (=) 12:35% ZiEpEs= 14 |19 1130409  [gESC HiC
14F2H19H (=) 12:35% ZiEpas= 14 |19 1130409 |82
14FE2H19H (=) 12:35% S = 14 |27 1130417  |3ES7 B
14F2H19H (=) 12:35% ZiEpEs= 14 |27 1130417 |BZA
14F2H19H (=) 12:35% ZiEpEs= 15 |2 1130420  [gESC [ESC
14F2H19H (=) 12:35% ZiEpEs= 15 |2 1130420 [gBESC #iC
HAE2H19H(Z) 12:355 Zipss= 15 12 1130420 |3ts
14F2H19H (=) 12:35% ZiEpEs= 15 3 1130421 [gBESC B
HAE2HI9H(Z) 12:355 Zipss= 15 |3 1130421 |3ts
14F2H19H (=) 12:35% ZiEpEs= 15 |5 1130423 [gESC [EC
14F2H19H (=) 12:35% ZiEpaEs= 15 |5 1130423 [gBESC HiC
HAE2HI9H(Z) 12:355 Zipss= 15 |5 1130423 |3t5
14F2H19H (=) 12:35% ZiEpaEs= 15 |9 1130427 [ESC EC
14F2H19H (=) 12:35% ZiEpaEs= 15 |9 1130427 |BZ%4
HAE2HI9H(Z) 12:355 Zipss= 15 |9 1130427  |tt&r
14F2H19H (=) 12:35% ZiEpaEs= 15 |12 1130430  [gBES EC
HAE2HI9H(Z) 12:355 Zilpss= 15 |12 1130430 |3t57
14F2H19H (=) 12:35%r ZiEpaEs= 15 |26 1130445 [T ESC
HAE2HI9H(Z) 12:355 Zipss= 15 |26 1130445 |3ty
14F2H19H (=) 12:35%r ZipaEs= 15 |28 1130447 [T ESC
14F2H19H (=) 12:35% ZiEpaEs= 15 |28 1130447  [gBESC HiX
HAE2HI9H(Z) 12:355 Zipss= 15 |28 1130447 |3ty




